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����� 2

���	�

����������	 (natural rubber) ����������������� �!"���� (latex) ��$%&��'$(%��� 
(cis-1,4-polyisoprene) ����'�34��5 '67&8  ����������	��9�68�	3:���;�7�<=�9>� ����5 &��
9?�%����@'�A@B�����5���C����B�&�CD�'<E7?>�	�����"� :=�'<E7?>�	9?�%A �: (Tg) ��=� ����������	
��3=� Tg ��=� 86 -70

oC (D����"� :=����98��3��574';��K � �:���L%�5���6	:����'��A&5���(	&	$3� �8�
�8!� ���'<E7?>�	9>� :=� Tg ����������	 B�8�3�9?�%�;�7�<=����9>� (%�%��E �	�	'<�8�, 2528) ���
�������	�����������7��59"�7�86P���"�Q&	�?8ER4�8�:K �������=��'� ��9�68�	%	�ST�L%�5���5�� 
��=� ��=��'� ��9�68�	 �����!"��8� 7�;'���='3:����'����'<E7?>�	9>�K �U��<68����98��3��574 
��=� 9�����-6	:����'�� (styrene-butadiene) $%&�6	:����'�� (polybutadiene) ����@����A�����        
 ��P������� ����������	 ��;�'��� ���98��3��574�7&=���!��9�68�	��� &A&5���3:����'�         
����� :=� A�=3:���;�7�<=���'� :=�����������	 �8��8!� ���"�����������	���"�Q&	�?8ER4�D���'�      
�� ����86��<�9�68�	�%;�'P7��86A������� @D!�A&5������� ����&�����>������ $�� ��P9=9���3��
A&59���8:��	��@����P���� 7�;'������� :=� ���"����3'���:�4 (rubber compounds)  ='��"���  
@D!��>���'�7�;'�"� ��:8&3���(4�='��

�C��&'�&	 ���4 ����Q&%&'������  ���Q��7��@'�C=��7	�&	 ���4P� �56:�
 ��Q&	� �5A9�XXY� P� ���Q�C=��7	�&	 ���4�5����C��&	 ���4'' �� (D��9����CA6=�'' ���� 2 
9=:�3;' �C��7�8  (wet ash) A&5�C���6�7�;'�C��&'� (dry ash or fly ash) �C��7�8 �5� 9>= ����� 9=:�
�C��&'��5���� 86 ]�(��'�A&5C> �8 �86$���3�;�'��8 �86^<_��XXY�9C	� (Electrostatic 
Precipitator) �%;�'A� '' ��  ]�(��'� ��	��E�C��&'����� 	�@D!�����5��E 80-95% @'��C������ 	�
@D!��8!�7�� �C��&'�&	 ���4��&8 TE5�8�:�������>���� &� ��@����8!�A�=�&B  :=� 1 ��3�'� ��CD� 
150 ��3�'� 3:��C=:��"��%�5'�>=�57:=�� 2.00-2.60 '�34��5 '6����3�����9"�38f3;' (	&	 � (SiO2) '&>�	
�� (Al2O3) A&5�X'�4�	 '' �(�4 (Fe2O3) (D��'8���9=:�@'�'' �(�4�8!� 3 ��	��5A����&���������
'<E7?>�	 9?�%A:�&�'�@E5�Q� A&5��	�@'�C=��7	����P���Q�



8

2.1 �
����������������������

2.1.1 ����������  (Natural rubber)
�!"����9���� ����� ������%��� ��&8 TE5����@'��7&:9�@�:�7�;'��!"��� ��

9?�%����3'&&'��4 (colloid) �� pH ��5��E 6.5-7.0 3:��7�;�@'��!"������3=���5��E 12-15   
�(��	%'�94 ��3:��7��A�=���5��E 0.975-0.980 g/cm3 '�<?�3��B�������A@:�&'�'�>=P��!"�����
9����5 '6%: �n$��3��46'� ���;�'$3��9��������3��:=� $%&��'$(%��� &8 TE5'�<?�3���
3='�@��� &�3&���&> A%�4 ��@���'�>=�57:=�� 0.04-4 ��3�'� ('�<?�3���9=:�P7f=�5��@���� 	� 
0.4 ��3�'� ��@���'�<?�3�L&�����5��E 1 ��3�'�) (�9�:���4  =':<o	 <&�8�9�, 2546)

2.1.2 ����+,��-�.� (Vulcanizing agents)
9��:8&3���(4����9������"�P7����� 	� ��:8&3���(4 3;' �5� 	� ����;�'�@:��

�57:=��$��& <&@'���� (D���5� 	�$3��9��������A66 3 �	�	 �"�P7�9�68�	@'������&�������8���!
- �%	��3:��A@B�A�� �'�<&89 A&53:����������=' ��9D 7�'@'����
- ��&����9?�%@'������  ��&5&�����P�9��&5&��������������=&5&��P�9��&5&��
9��:8&3���(4����	��P�� 8��� P������='	���8: ��=� ����������	 ��������&4 ���

A =  "��5C8� A�=P����'	���8: ��=� ���6	:��� ��� EPM �5P��9���%'�4'' �(�4 phenolic resin 7�;' 
p-quinone dioxide ����9��:8&3���(4  ��P�� "��5C8���@�'��A&5@�'�9���8���!

�6���
- ��3�3='�@���C>  9=�Q&P7�����<���"�
-  �� �5����8:��
- ��=����'8������='9<@?�%
- ��Q&$������='9����=��r	 	�	��:8&3���(4 (accelerator) �8��8!��D������8:3:63<�

'8��� ��� 	� ��:8&3���(4
�6�7���
- ��A�:$����"�P7�� 	� ��� Q&D '' �����Q	:��� (bloom)
-  ���	�9�@'�(8&�X�4
- ��;�'�"�������Q9� "��5C8���'6 �"�P7�������='3:����'������=��
- ��@���"� 8�P� ��P��3;' P������L%�5��������='	���8:
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� �	 ���"�P7�$��& <&@'����� 	� ����;�'�@:��$�� "��5C8�'�=������: A���5P��
'<E7?>�	9>�CD� 150oC  B�5� 	��Uf7� ��:8&3���(4��������  A�=7� ��	��8:��=��r	 	�	��A&5P��
'<E7?>�	����7��59� ��=� 140-180oC  B�5�"�P7�'8��� ��� 	� ��:8&3���(4��B:@D!�

�>���� 2.1 ��	��E%8��5��;�'�$�� 86�:&�@'��566:8&3���(4��:� "��5C8� (%�%��E �	�	'<�8�, 2536)

&8 TE5 ����;�'�@:��@'�$��& <&@'���� A6=����&8 TE5���� 	���� 3 A66 3;'
1) Random crosslink �5� 	� ����;�'�@:��@'�$��& <&'�=�� random
2) Block crosslink �5� 	� ����;�'�@:��@'�$��& <&P��>�@'� block
3) Regular crosslink  ����;�'�@:��A66 regular �5� 	�P���������3<E9�68�	%	�ST

��=��8!� $��� �	 ����;�'�@:��@'�$��& <& $3��9�����5���8!�A66 random A&5A66 block Q9�
 8�

�>���� 2.2 A9�� ��� 	� ����;�'�$��$��& <&@'���� (%�%��E �	�	'<�8�, 2528)

�>���� 2.3 A9�� ��� 	� ����;�'�@:��$��& <&@'�����8!� 3 A66 (:��?�E4 @����� <&, 2530)

 "��5C8�
 "��5C8�+9��

 "��5C8�+9���8:��=�+9��

Time

Crosslink

A66 Random A66 RegularA66 Block

� � �

� � � �

S , ∆

�� 	


 �� �

� � �

	� � 
 �
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2.1.3 ���7�
��9 � � �� (Accelerators)
9����=��r	 	�	������9������=:�P7����� 	� ��:8&3���(4��B:@D!� P��5�5A� 9����=�

�r	 	�	���5�8�7�:�7�>=���3:����B:P� ����=�P7����� 	� ��:8&3���(4 A�=��;�'�����98��3��574�%	��
@D!� 9����=��r	 	�	������3��8�����9����=��r	 	�	�������B:9"�7�86����������	 '�� &������9����=�
�r	 	�	��������9"�7�86���98��3��574�8!�K ��� �D��� ��A6=�9����=��r	 	�	�����&8 TE5$3��9�������
�3��@'�9����=��r	 	�	���8!�K  ���8�7�:�7�>=9����=��r	 	�	�����:	����!�5A6=�'' ����7�>=�=��K �8�
��!

2.1.3.1 -�-�<�������7�� (Dithiocarbamate)
����9����=��r	 	�	�������=�P7����� 	� ��:8&3���(4��B:��  9����=��r	 	�	��P� &<=���!

�8�A6=����� A'�$����������$'3��46���� $(���������$'3��46���� A&5(	�34����$'3��46����
(	�34����$'3��46��������9����=��r	 	�	�����9"�38fA&5���"�7�=���� ���9<�P� &<=���! (	�34����$'
3��46����P���� P� �E�9"�7�86�!"���� 9"�7�86����8�:�� (	�34����$'3��46����'��P���%���      
�8:����:7�;'�:� 869����=��r	 	�	��';���%;�'P7�Q&Q&	������3<E9�68�	$��=�P9 @�: 7�;'��9�98�9�P9 
�%��5:8&3���(4���'<E7?>�	��"� 9�@'������=��&����A�&���  (	�34����$'3��46����P7�Q&Q&	����  
��=���9 ��=�� &	�� �"�P7�P�� 86������98�Q89 86'�7����� �' �� �8!��8�P���"�'<� �E4 ��A%��4 
'<� �E4�%;�'9<@?�% ������� (	�34����$'3��46����'��P��3:63>= 869����=��r	 	�	����	���'�$(& 
�%��5�5�=:� �5�<��P7���'�$(&�"��������:���B:@D!� �8:'�=��9����=��r	 	�	�����'�>=P� &<=���! ���A = 
zinc-N-dimethyl dithiocarbamate (ZDMC) zinc-N-diethyl dithiocarbamate (ZDC 7�;' ZDEC) 
A&5 zinc-N-dibuthyl dithiocarbamate (ZDBC)

2.1.3.2 @.�7�� (Xantahtes)
����9����=��r	 	�	������"�P7����� 	� ��:8&3���(4��B:��  ��B: :=�� &;'A'�$������

@'�����$'3��46�����9��'�  �D��	��P��P�'<�9�7 ����!"����$���L%�5 ���"����X'��!"� ��;�'�
�� 9����=��r	 	�	����	���!�"�P7�� 	� ��:8&3���(4��B:��  �8��8!�'<E7?>�	P� ��:8&3���(43:��5
��"���5��E 80-110oC A(������'�P��(	�34'' �(�4 �5�<��P� ���"���� �8:'�=��9����=��r	 	�	�����
'�>=P� &<=���! ���A = sodium isopropylxanthate (SIX) zinc isopropylxanthate (ZIX) A&5 zinc 
butylxanthate (ZBX)
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2.1.3.3 -��B@�� (Thiurams)
�8�����9����=��r	 	�	�������3:����B:9>�%	�ST9"�7�86����������	 A�=P� �56:�

 ��A���>���� ����5 scorch ��� :=�%: ����$'3��46���� ������P�����>A������9����=��r	 	�	��
9����C:8&3���(4���7&��:	�� ��=� :8&3���(4$��P���3�;�'�'8��'�!"�A&5'� �S��'� P�6��3�8!����>
A��'��P������9����=��r	 	�	���9�	� �5�<��9����=��r	 	�	��';�� ��=� ��'�$(&A&5 (8&X}�����4 A�=
9"�7�86 ��P�����>A�� 86(8&X}�����4A&�:�5�"�P7� ����	�����:8&3���(4���&��� A�=�:&�P� ��:8&
3���(49�6>�E4�598!�&�  ��P�����>A���5��'���(	�34'' �(�4'�>=��:��%;�'P7���59	��	?�%9>�9<� 
'<E7?>�	���P��P� ��:8&3���(4��=3:�� 	� 125-135oC �%��5C��� 	� :=���!�5   �"�P7����9< � 	��� 
(over cure) ����=�� ���>A����=���9 ��=�� &	�� 9����CP��P� ���"�Q&	�?8ER4���$��=�P9 9�@�: 7�;'9�
�=��K P���"�'<� �E4���98�Q89 86'�7����� �8:'�=��9����=��r	 	�	�����'�>=P� &<=���!���A = tetramethyl 
thiurammonosulphide (TMTM) tetramethyl thiuramdisulphide (TMTD) tetraethyl 
thiuramdisulphide (TET, TETD) A&5 dipentamethylene thiuramtetrasulphide (DPTS)

2.1.3.4 -���<., (Thiazole)
����9����=��r	 	�	������	��P�� 8��� ���9<� ������P����'�$(&����9����=��r	 	�	��

9����C:8&3���(4����< �>�A66@'� ��:8&3���(4 '�=���� B���  ���������A66 delay action P�
 ��:8&3���(4 �"�P7��7��5A = ��:8&3���(4$��P���3�;�'�'8�����'�=���	�� 9����=��r	 	�	�� &<=���!
9����C �5�<��P7���B:@D!����$�� ��P��9����=��r	 	�	������������=�� ��=� %: ��$'3��46����A&5
���>A�� A�= �� �5�<����!�8�Q&P7� scorch time 98!�&�����:� 9����=��r	 	�	��%: ��'�$(&�"�����
��'�P��(	�34'' �(�4A&5 ���@�8��=:���:� 9"�7�86 ���@�8�A&�:�	��3:����:$(=��:�5�"�P7�3:��
:='��:P��r	 	�	���%	��@D!� 9����=��r	 	�	����'�$(&���9@� �8��8!��D���='��P��P���������'�98�Q89
 86'�7�� �8:'�=��9����=��r	 	�	�����'�>=P� &<=���!���A = 2-mercaptobenzothiazole (MBT) 
dibenzothiazyl disulphide (MBTS) A&5 zinc salt 2-mercaptobenzothiazole (ZMBT)

2.1.3.5 .+,FG��-��� (Sulphenamide)
��5 '6��:�9=:����������'�$(&A&59=:��������'5��� (8&X}�����4����9����=�

�r	 	�	����� delay action 7�;' scorch time ��: :=�%: ��'�$(&�9��'� �%��5��;�'(8&X}�����4����86      
3:����'� B�5A� �8:'' P7� MBT A&5�69'' �� �5�5�:&� ='�����5A� �8:'' ����! ='P7�� 	� 
delay action MBT ���A� �8:'' �� ='P7�� 	� ��:8&3���(4 A&5�69�5�����8: �5�<��P7�9����=�
�r	 	�	���"������B:@D!� �'�<&899>�@D!���;�'��� :=�(8&X}�����4P7� delay action �"�P7� ��:8&3���(4
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P��6��%	�%4���%��5���:&�%'P7�����7&�����B�%	�%4 (8&X}�����4����9����=��r	 	�	������"�P7����    
���'�<&899>���  A&5��9�68�	��	� &�� (8&X}�����49=:�P7f=P���"�Q&	�?8ER4�����'��86A���3��9>�K 
��=� ����C���4 ��� 8��� A&59��%��&"��&��� (8&X}�����4P������8!�����������	 ���6	:��&4  
��������&4 A&5����'96�'��4 �8:'�=��9����=��r	 	�	�����'�>=P� &<=���!���A = N-cyclohexyl-2-
benzothiazyl sulphenamide (CBS) A&5 N-tert-butyl-2-benzothiazyl sulphenamide (TBBS)

2.1.3.6 �+�� ��� (Guanidine)
����9����=��r	 	�	�����:8&3���(4��� �7��5����5P�� 86���7�� �%��5��'�:8&3���(4

��� ������P�� 8:�	����5���'�<&899>� C��P�� 8:�	�������9����=��r	 	�	���9�	��5�� �� �5�<��9>��� 
$���L%�5 �� �5�<��%: ��'�$(& A�=��=�	��P�������8: �5�<�����>A�� ����$'3��46���� 
�%��5�8!�9'��8:��!:8&3���(4��B:'�>=A&�: ��;�'P�� 8:�	�������9����=��r	 	�	��7&8 �5��=9����C       
:8&3���(4$��P��'� �S��'�����%��5�5�86�8:���� 	��� 9����=��r	 	�	�� &<=� 8:�	����	��P��P����
�"�����C���4 �'����� 9���XXY� ������� �8:'�=��9����=��r	 	�	�����'�>=P� &<=���!���A = diphenyl 
guanidine (DPG) A&5 di-o-tolyl guanidine (DOTG) (%�%��E �	�	'<�8�, 2528)

2.1.4 �������M6��9 � � �� (Activators)
9�� �5�<���r	 	�	�� 3;' 9������=:��9�	�P7�9����=��r	 	�	���"��������59	��	?�%

9>�@D!� 9�� �5�<���r	 	�	��'������9��'	�����47�;'9��'�	�����4 9��'�	�����4�������9�� �5�<��
�r	 	�	�����9"�38fA&5�	��P��3;' (	�34'' �(�4 9=:�9�� �5�<���r	 	�	���������9��'	�����4���9"�38f
3;' %:  ���@�8� ��=�  ��9�����	   ����&4��	�	  A&5 ��&'�	  ������� 9�� �5�<���r	 	�	����
3<E9�68�	���9"�38f3;' ��;�'P9=�@����P������	��E�&B ��'��5�"�P7�������'�<&899>�@D!� A&56��3�8!�
C����=��9�� �5�<���r	 	�	�� B�5��=�� ��:8&3���(4� 	�@D!�

2.1.4.1 . ������-.�� (Zinc oxide, ZnO)
P� ���"�P7����:8&3���(4���9�6>�E4 (	�34'' �(�4��3:���"�������  $���L%�5

'�=���	��9����=��r	 	�	����5�?���'�$(& $���8�:���	��P��(	�34'' �(�4����9�� �5�<���r	 	�	��
P���	��E�8!�A�= 3-5 phr (part per hundred rubber) A�=C��(	�34'' �(�4��@���'�<?�3�&B  B9����C
&���	��E ��P���7&;'�%��� 1 phr ��� ��	��E(	�34'' �(�4��Q&�='9�68�	��	� &@'����3;' �'�<&89 
3:����������=' ��L� @�� 3:��A@B�A���D� A&53:�� �5�����8:@'�����5�%	��@D!������	��E  
(	�34'' �(�4 �� �5�8����	��E@'�(	�34'' �(�4�%	������ 2.5 phr A&�: B�5��=�� ����&����A�&�
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2.1.4.2 ���-��+� (Fatty acid)
 ���@�8�����9������"�����P� ��P������9�� �5�<���r	 	�	�� $���L%�5%: ��'�

$(&   ���@�8����P��9=:��� ����@'�Q9�@'� ��'&	X��	 '	���8:�����3��46'� 12-18 '5�'� (D��
��59	��	?�%@'� �� �5�<��@D!� 863:����:$��& <&@'��8� ��	��E ��P�� ���@�8�P� ��Q9�
�@����P�����5@D!� 86��	�@'���� C�������	�P��� ���@�8�'�>=A&�:  B��=�"�������'�P9=7�;'C��P9= 
 B������	��E��'���   ���@�8�����	��P��3;'  ��9�����	  (stearic acid) (%�%��E �	�	'<�8�, 2528)

2.1.5 ����+�7� � (Fillers)
9���8:��	�7���CD�9��';��K �����=P�=������P9=&���P���� �%;�':8�C<��59�34�=��K 

��=� �%;�'&�����<� �%;�'��&����A�&�9�68�	���X�9	 94A&5��	� &@'���� �%;�'�=:�P�@6:� ��Q&	� 
�%;�'&� ��%'��8:@'����P��!"��8� �%;�'�%	�� ���"��XXY� A&5�%;�'�%	��'��< ��P�����@'���� �������
9���8:��	�9����C ��A6=����&8 TE5��� 3 &8 TE53;'

1) 9���8:��	������&8 TE5������B� (particulated filler) ���A = A3&�(���3��46'��� 
(	&	 � �	��7���: A&5�@�=��"� ������� 9���8:��	���5�?���!�8�A6=�'' ���� 2 %: P7f=K 3;'

- 9���8:��	��9�	���59	��	?�% (reinforcing filler) 3;' 9���8:��	����P9=�@����P�
���A&�:�=:�P7������3:����������='A���D�9>� 3:����������=' ��9D 7�'9>� 3:����������='
 ��L� @��9>� ������� 9=:�P7f='�<?�3�5��@����&B ��5��E 0.18-0.60 µm ����Q&	�?8ER4         
�������� �@�=� (fumed product) ��=� �@�=��"�A&5(	&	 � �������

- 9���8:��	���=�9�	���59	��	?�% (diluent filler) 9���8:��	���	���!�5����3�C>  
��'�<?�3@���P7f=��5��E�8!�A�= 10 µm @D!��� ��=� A3&�(���3��46'���A&5A�Y��8&38� �������         
9���8:��	�6���8:��@���'�<?�3��� &�� ��=� '&>�	�����(	&	�3�A&5A3&�(���(	&	�3� �5�8�'�>=P�
%:  D���9�	���59	��	?�% (semi-reinforcing filler)

�U��<68�9���8:��	�����	��P���� ���9<�3;' �@�=��"�A&5(	&	 � ��;�'��� 9����C��86
��<�@�'��'���	� &@'������� P��5�57&8����%�������869?�%Q	:@'�9���8:��	�@'�9��  '�	��
���46���8: �%;�'P7��D��	� 86$��& <&@'����������	��@D!� (D���5�=:�P7�9�68�	@'�����7&=���!     ��=�=��
��  ��P���@�=��"�7�;'(	&	 ��� �8 

2) 9���8:��	������&8 TE5�����9��P� (fibrous filler) ��=� P� Ŷ�� (cotton froc) A&5 
P���� (wood froc) 9���8:��	���5�?���!P9=P����6����	��%;�'�Y'� 8���=P7����7��8: AQ='' �%;�'
�8 T��>���� �8 �5P������9���8:��	�P������5�?�� ����"� ��=� %: �����&;' A6���'��� �<] ��
A&5%;!��'����� �������
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3) 9���8:��	������&8 TE5������(	� (resinous filler) ��������	���(	��5��3:��A@B�
����%	�ST ���� �	A&�: ���"�P7����A@B�@D!��8 �5P��9���8:��	��������Q� ��=� �@�=��"� (	&	 � 7�;' 
�	��7���: ������� A�=9���3���������Q���!Q9��@����P�������P���	��E����"� 8� C���� � 	���A&�
:�5�"�P7�Q9������  ���A7�� A&5��3:����'�� 	�@D!�P�@E5Q9� �:��8!�3:�� �5�����8:@'����
��"�&�  ��P��9���8:��	��������Q���!�5�"�P7������3:��A@B��%�����5��E 70-75 IRHD ��=��8!� C��
��'� ��P7�3:��A@B���  :=��8!�A&�:�8 �5P��9��%: ��(	�A�� ��=� �n9�������(	� (high styrene 
resin) A&5X}�'&X'�8&���n�4��(	� (phenol formaldehyde resin) (%�%��E �	�	'<�8�, 2528)

2.1.6 U,��� -.7.��� (Plasticizers)
%&�9�	�(�('�4����9�����P9=�@����P�����%;�'�%	��3:���;�7�<=�A&53:��9����C

P� ��P����� %&�9�	�(�('�4�5�"�P7�3:��A@B�@'����&�&�A&5�=:�P7�A���>�����=��@D!� P�6��
3�8!�%&�9�	�(�('�4�5���;�'���� �=�� 8� �8!���!@D!� 867������A&5��	��E���P�� ��=� C��P��P���	��E��=
� 	� 5 phr �5���� :=� �Processing aid� 3;'�=:�P� ��A���>� �=:�P7� ��Q9�9���3���@����P����
 �5�"�����=��@D!� C��P����	��E 5-15 phr �5���� :=� �Softener� 3;'P9=�%;�'P7�����	��&�             �8!�P�
@E5����8���=:8&3���(4A&5:8&3���(4A&�: A&5C��P��� 	� 15 phr �5���� :=� �Extender�  �E���!P9=�%;�'
&�����<� �<��<=�7���@'� ��P��%&�9�	�(�('�4P������7&����5 ��3;'

1) �%;�'�=:�P� ��A���>�  ��P9=%&�9�	�(�('�4�@�����5P7�Q& 8����@��� 86
9���8:��	�3;' �5�"�P7�����	��&� A���>�����=��@D!�

2) �%;�'��&����A�&�9�68�	@'���� ������P9=%&�9�	�(�('�4�5�"�P7�3:��A@B�&�
&� ����Q&P7��'�<&89&�&� �5�5�;���;�'@��A&53:���;�7�<=�9>�@D!�

3) �%;�'&�����<�
4) �%;�' ��P��������'<E7?>�	��"� %&�9�	�(�('�4�5�"�P7������3:���;�7�<=����

'<E7?>�	��"�&���'�  A&59����C@���@'6�@� ��P��������'<E7?>�	��"�&������'� 
5) �%;�'&�%&8����P� ��A���>���� %&�9�	�(�('�4�5�"�P7�����	��&� %&8�������

P��P� ��Q9���� A��>���� �:��8!�'<E7?>�	P� ��A���>�����5&�&����
6) �%;�'P������9��A� 3	�X�''�4 %&�9�	�(�('�46���8:��Q&P7������3:��9����C

P� ���	� 8�����=��@D!� (%�%��E �	�	'<�8�, 2528)
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2.1.7 ���@����X���. @���� (Antioxidant)
�&'�'��< ��P�����@'���� ����5�9;�'��"�P7���=9����C�5P������='����� 

�U��8�7&8 9"�38f����"�P7�����9;�'�3;' '' (	��� 86$'$(� CD�A��:=�����5�"��r	 	�	�� 86'' (	���
'�=�����K  B��� (�:���:�A�=�5�� �� �5�<��) A�='' (	��� B��3:��9"�38f�	���=' ���9;�'�@'�        
����8:'�=�� 9	����� �5�<��P7�����9;�'�9?�%�����B: ���A = A9� 3:����'� � &;'$&757�8 �����;'�� 
$'$(� A&5 ��78 �'���� �������

P��57:=�� ���9;�'�@'���� Q	:@'����� 	� ����&����A�&� A&5'���5�� ��
��&����A�&�P��8:����8!�7����:� $���L%�5���6��K (D��'' (	���9����C�"��r	 	�	������&'� 
�8:'�=��9?�% ���9;�'�@'���������� r���A =

- Q	:A�  '8�����Q&��;�'����� A9�������='��� �7B�����8��� P����9�
- Q	:A@B�A&59�68�	 ��?�%�  �8:'�=����=�  �E�@'�����'96�'��4����9;�'��� 3:����'�
���9����C�Y'� 8�P7��9;�'����&����$�� ��P��9��A'���!'' (	A���4 A&59��

A'���!$'$(A���4 �:���CD�@�!QD!���:�
A'���!'' (	A���4���P������:� 8� 2 ��	�P7f=K 3;' %: X}�'&&	  (D��P�� 86���9� 

A&5%: 9����5 '6'5��� (D���"�P7�9�@'������&����A�&���6��� �D�P�� 8��8�:��P�����"� ��;�'
�����6����6 8��57:=��A'���!'' (	A���4 2 ��	���! �5%6:=� %: 9����5 '6'5����5����59	��	
?�%��  :=�%: 9��X}�'&&	 

��	��E� �	@'�A'���!'' (	A���43;' 1-2 phr ��	��E�8� &=�:C;':=������<�9>�9<�
A&�: C��P���� � 	��� B�5��=P7�Q&�7�;'�� :=���!'�  A&5'���5�"�P7�� 	� �� bloom P�Q&	�?8ER4      
���'� ��:� (%�%��E �	�	'<�8�, 2536)

2.1.8 ���7����Z��[
9���3��';��K ����5 &=�:CD��='����!����9�������=C;':=�����9	���"���������5��'�P��

9"�7�86����8�:�� A�=6��3�8!�P9=�@����P����$����:8�C<��59�34�%;�'����L%�5'�=�� ��=�
- 9� ��;�'��'� ��P�����P��>�9��=��K �%;�'3:��9:����7�;'6' &8 TE56����5 ��
- 9��&� ���	��X ��;�'��'� ��P7�����	��X������&� 7�;'��=3:��	��X&< �7���'�
- 9���Y'� 8��8�9� ��;�'��'� ��P7��8�9�Q=���������� @D!� P���"��<�%�8 ������

�"����� ���: 86�8�9��'B (4 7�;'9�� 8��8���8�9��=��K
- 9��@8�9� P� ���"����&67�D  ���&6�5��'�A@B�A&5��9�68�	����5@>� �5��T �'�

�'�7�D '' ��� (%�%��E �	�	'<�8�, 2528)
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2.2 ,+��\�����+,��-�.�]�Z��M\,+��\�����
� (Cure characteristics)

��;�'�"����3'���:�4���"�P7���'� 9���3��:8&3���(4���'�>=P���� B��	������ 	�
�r	 	�	�� ��=� '���5� 	� ��A� �8: 7�;''���5�"��r	 	�	�� 8��'� P��'���	�������!�5P���5�5�:&�
7�D�� (D��'���5���7�;'��B:@D!�'�>= 86'<E7?>�	���P��A&5��	�@'�9���3�����P����:� $���8�:��C��
'<E7?>�	9>�@D!��5�5�:&��8� &=�: B�598!�&� �5�5�:&��=:���!�����=:��:&������	����� ='����9���3���5
�@�����"��r	 	�	�� 86��� �=:��5�5�:&��8� &=�:���;�'���� :=� �Induction time� A&�:P��:&��='�� 
9���3�� B�5�"��r	 	�	�� 86��� ='P7�� 	� ����;�'�@:��@'�$��& <& �"�P7��'�<&89@'����9>�@D!�A&5
���A@B�@D!� �5�5�:&�������� 	� ��A@B��8:���7B�����8�����  8�:=� �Scorch time� ��;�'���� 	� �� 
scorch A&�:����5A���>������ @D!� @E5���� 	� �� scorch ��!����  8�:=������	�� �9< �

��;�'9���3���"��r	 	�	�� 86����='�� ��� B�5A@B�@D!���;�'�K �� �5�8��9���3��
 �5�"� 86�����7�� ��� B�5A@B�9>�9<� �5�5�:&����P���%;�'P7�����"��r	 	�	�� 869���3����7��
���� :=� �100% Vulcanization time� 7�;' �100% Cure time� A�=P� ���r	68�	��	��8!�%6:=� 100% 
Cure time P���:&����� 	��� A&5'���5�"�P7�9�68�	���X�9	 94����';��@'������'�&���'� ��:� 
�8��8!� ��:8&3���(4����D��8 �5 �5�"����������'�<&899>�@D!��%��� 90% 7�;' 95% @'��'�<&89����5
@D!�9>�9<� �5�5�:&��8� &=�:�5C;'���� 90% Cure time 7�;' 95% Cure time ���&"��86 �5�5�:&��8�
 &=�:'���5C;'���� optimum cure  B��� ���P��������863:����'���=CD� optimum cure ���� :=�� 	� 
under cure (7�;'�����=9< ) �5�����������3<E9�68�	�������B������=��� C�������=9< �� K ����5�8 T�
�>������=��� ��;�'�"�P7����� 	� ����&�����>��5� 	� ��3;��8:���7�;'��&�����>�C�:����

C��7� �&='�P7�����863:����'��='��'� 7&8��� ������Q=�� 100% cure A&�: �8��
7���CD�  ��� 	� over cure (���9< � 	���) $��& <&@'�����59&���8: ����5�	��&� (C������8!�����          
����������	) ���� :=�� 	� �� reversion 7�;'���'���5A@B�@D!���'�  (C������8!���������'96�'��4   
�������) ���� :=� � 	� Marching modulus ���3'���:�46����	�� 	� �� reversion ����=������ :=�
����8!���&8 TE5���� Peaky cure A�=���P����9����C�8 T��'�<&89��=P7�� &��������� CD�A���5
� 	� :=� 100% cure A&�: ���3'���:�4�8!��5���� :=������������� Flat cure 7�;' Plateau cure
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Strength of rubber

P

M

XS

C

R

Time of heating

�>���� 2.4  ����&����A�&�9�68�	@'����3'���:�4 ��;�'P7�3:����'�A =���
       (6<f���� �	�	'<�8� A&5����� �Y'�?8�, 2534)

�>���� 2.4 A9��CD�@8!��'�@'� ����&����A�&��'�<&89@'���� P��57:=�� ��P7�
3:����'�A =�����!$��

S  =  �5�5�:&� �� scorch �����=:�@'� induction period
X  =  �5�5�:&� ��� 	� ����;�'�@:����CD��<� optimum
C  =  �5�5�:&� ��:8&3���(4��CD��<� optimum
M  =  �9��A9�� marching modulus
P  =  �9��A9�� plateau cure
R  =  �9��A9�� reversion cure

P�9�8� ='�  ����:�9'67��:&��������59< �"�$�� ���"����3'���:�4��    
�"�P7���'�?��P�7&'���&'����6���< &��('��� A&�:P��A�=�A �:7�;'$&75 �&����������8!� P�
�=:��5�5�:&�7�D��K P7�98�� � ��A@B��8:@'���� $��:	�� ����! B�5�"�P7����6CD��:&���������	�� 
scorch A&5�:&����9< $����5��E��� A�=�U��<68��	��P���3�;�'��;' cure-meter ��  :=�'�=��';��

2.3 ���+� 7� ��, (Mechanical properties)

���:8&3���(4C> �"���P�����'�=�� :���@:���%��5����:8�C<�����9�68�	7&� 7&�� 
 ����5�< �46����������L%�59�68�	��5�?�P���5�?�7�D���%���'�=������: A�=6�������'� ��
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9�68�	7&��K '�=��%��'� 8� 6�������'� ��9�68�	%	�ST ��=� 98���59	��	� ��(D�Q=��@'� ]�(��"� 
�D��8 ��=3='��"� ����9'6 ��;�'�����6����6 869�68�	���P��P�����8�:�� �8:'�=����=�  ��:8�9�68�	
3:���3��-3:���3���� (A���D�A&59=:��;�) 3:����������=' ��L� @�� A&53:��A@B� �������

2.3.1 ����Z�@��7���� (Uniaxial tension)
7���CD� ���D����P7��;�P��	S�������:  ����9'6�8�:K ������ :=�  ���D���� 

(tensile test) 7&8  ����!����863:��9�P�3='�@���9>� �%��5�� ��C;'�r	68�	�� ���P�'<�9�7 ���
��� (D�� B���7�<Q&�'��867&����5 ��  ����9'6��:��	!���9'6A66�D� Q& ����9'6�������5
��!:=� ���3'���:�4�8!���'�34��5 '6�7��59��8!�P���	���	�A&5��	��E7�;'��= A&59?�:5 ��
:8&3���(4����'�=���� ������� $���D�����%���3�8!�����: �5����8!�3:���3�����9=:��;���� "�7��     
(�'�<&89 300%) �5�5�;���;�'@�� (elongation at break) A&53:���3����;�'@�� (stress at break) @�'
�>&�7&=���!C> �"���P��'�=�� :���@:��P� ��3:63<�3<E?�%A&5 �� "�7��9�68�	@'�Q&	�?8ER4

P� ��:8�9�68�	 ���D���� �	��6' 3:���3����7�;'3:���;�������'�4�(B��4 9=:�
�;���� 300% 7���CD� ������	!���9'6�����%;!����7����8�9��"��9�'C> �D�P7��;�'' ���� 4 ��=�@'�
3:����:��	� 9"�7�86�	!���9'6�>��8��6&�5��'�:8�9=:��;��57:=���9�����@���:� (Benchmark) ��=�
�8!�

:	��7&8 $�� ��:8�9�68�	@'����$��:	���D�3;' ������� ASTM D 412 (D��P��   
�	!���9'6�>��8��6&������5�� AQ=������:�A�=%	�%4 �"����86��:�����86@'��3�;�'��D� � �	�D�A� 
��:�'8��� 8.5 �	&&	�����=':	���� �	!���9'6'� A667�D��3;' A66A7:� �	!���9'6A66��!A �
�Uf7� ���86��� @�'�9��7&8 @'��	!���9'6A66A7:�3;' 3:���3����Q	:P� 86Q	:�' @'�   :�
A7:���=��=� 8� $��Q	:P��;���  :=�Q	:�'  �8��8!�3=�3:����A���D��� �	!���9'6A66A7:�
�5��"� :=��������� A66�8��6&

�	!���9'6A66�8��6&'' A66�%;�'�Y'� 8� ��@��6�	�:E����86 A&5�%;�'P7�@�����
9=:�3'��=:� &�� �%��53:���3���5��3=�9>�9<����6�	�:E�����%;!����7����8��&B ���9<� �8��3;'  ��@��
�5� 	�@D!����9=:�3'�@'��	!���9'6�9�' 6��3�8!����@�����6�	�:E�7&=@'��8��6&�8�A9����:�&> 
S�P��>���� 2.5 (D���5�7B�:=� 6�	�:E�7&=@'�%	�%4 C �5$3�� :=�@'�%	�%4 A 7���3:��:=� %	�%4 C 
�5��3:���@��3:���3�� (stress concentration) ��'� :=�%	�%4 A  ���86�	!���9'6�5��'��"�'�=��
�5�8��5:8��%;�'&�3:���@��3:���3����P7���'����9<� $���L%�5��;�'�"� ����9'6 86�	!���9'6
A66%	�%4 A �%��53:���@��3:���3����'������9��7�<@'� ��@�����6�	�:E�7&=
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�>���� 2.5 �	!���9'69"�7�86��9'6A���D����������� ASTM D 412 (%	�%4 A A&5 %	�%4 C)
      (����� �Y'�?8�, 2542)

 �����"�7�	 (flaw) � 	�@D!����6�	�:E�7&=�	!���9'6 6:  86� 	�3:���@��
3:���3���� �5����9��7�<����"�P7����3=�3:��A@B�A��&�&��� ���9<� �	���"�7�	��@���P7f= 3=�  
3:��A@B�A���D�A&5�5�5�;���;�'@���	��&�&���  �"�7�	P��	!���9'6'��� 	������ 7&��9��7�<
���9"�38f���A = � 	���  ��3�>�@'�3�A�=%	�%4������'� � 	���  �� �5����8:��=��@'�9���8:��	� 
A�=%	�%4����;�'7�;'���'�A7:=����3��86����9��7�<������@����B: 3:��"��	!���9'6��:��(�'� 8�A&�:
98�� �:=� �'�@��� 	�@D!��������: 8�7�;'P &�K  8�7�;'��= C��@���������: 8�'�����<����3�A�=%	�%4�;�'
7�;'���'�A7:=�

6��3�8!�9�68�	����3:��A@B�A���D�A&5�5�5�;���;�'@��'���"�������'�7���    
�	!���9'6������������� �8:Q&	�?8ER4$����� ��=� ����C���4 $���8������ Q&	�?8ER4��^� 
(buffing) �����@���A&5�>��=��@'��	!���9'6 A�=��������'��86 8�:=�  ��^�7�;'�8�A�=��5�"�P7�        
3:��A@B�A��&�&� (��;�'����6 86�	!���9'6��������  ��'8��6��$�����) P�6�� �E�  ��^����
'���"�P7�3:��A@B�A��&�&����'�=���� 

9�68�	@'����$��:	���D���3:��98�%8��4$����� 869���C�5 ��P�����@'�Q&	�
?8ER4�����'�7�;'��=���&� A&5��=3='����P��@�'�>&P� ��'' A66Q&	�?8ER4�� �8  �%��59=:�
P7f=Q&	�?8ER4��=���P���86A���D� � �:������8� 9=:�P7f=�5P��@�'�>&�L;'�7�;' ��Q	��>�       2 �	�	
��  :=�

2.3.2 ����@�a� (Hardness)
3:��A@B�@'��������3:���������@'�����='A�� � ����9�68�	���P���56<CD�3<E

?�%@'�����8�:���9�'  ��:8�3:��A@B�@'����9����C�"����'�=���:���B:A&5A�=��"� 3:��A@B�
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@'��������9�68�	���A9��CD�7������-3:��9����C ��P�����@'�Q&	�?8ER4 �8��8!�3:��A@B�@'�
����D�P������9�68�	����8  "�7��P��������Q&	�?8ER4����< 3�8!� �' �� �8!�3:��A@B�@'�����8�
9����CP�������8:3:63<�3<E?�%@'�Q&	�?8ER4���'� ��:� ��=�  ���8��9���3��7&8 K Q	� %&�� 
7�;' ��'6�����=9< 7�;'9< �� � 	��� �5�"�P7�3:��A@B�@'������&������'�=���7B�����8�

:	�� ��:8�3:��A@B�@'����3;' P���7&B ������>���� "�7���:� �&���6�AQ=���� 
A&�::8��'�6<��@'����@E5��� "�&8� �'�>= �3�;�'��;':8�3:��A@B�@'�������P�� 8��8�:�����A = �3�;�'� 
Shore Durometer (D��:8�3:��A@B�'' ������7�=:� Shore A (9"�7�86����	��� �	) �3�;�'� Wallace 
Rubber Hardness Tester :8�3:��A@B�'' ����7�=:����� IRHD (International Rubber Hardness 
Degree) 3:��A@B�@'����7�=:�:8� IRHD ��9� &9>�9<� (������A@B��� ) ��3=����� 100 9=:�9� &��"�
9<� (�������	���� K) �5��3=����� 0 3=�9� & IRHD ��!��3=�P &��3��� 86 Shore A �' �� �8!��8���
�3�;�'��;':8�3:��A@B�@'����P� �E���������@����&B A&56�����A = �3�;�'� Micro Hardness Tester 
 86�3�;�'�:8�3:��A@B�P� �E���������Q	:$3�����A = �3�;�'�:8�3:��A@B�A66 Puzzy and Jones 
9"�7�86&>  &	!���� �������

3:��A@B�@'����:8&3���(4�5@D!� 86
- 3:��A@B�@'��8:����'�@E5�����=��9���8:��	�
- ��	�A&5��	��E@'�9���8:��	�
- ��	�A&5��	��E@'�%&�9�	�(�('�4
- ��	�A&5��	��E@'�3:���@��%8��5
- 9��';�����P9=�@����%	�ST ��=� ��(	� �������
���:8&3���(4�8�:�� ��=� ����������	 ����'96�'��4 7�;'���'�%����'B� �5��   

3:��A@B� (@E5�����=��9���8:��	�P�K) ��5��E 40-45 IRHD A�=���6����	���3:��A@B���  :=���! 
��=� ���X&>''$�3��46'� ��3:��A@B���5��E 60 IRHD �������  ��'' 9>������%;�'P7����3:��
A@B��%	��@D!�P��=:� 45-80 IRHD '���5�"����$�� ���%	����	��E9���8:��	� 7�;'&�3:��A@B�&�
$�� ���%	����	��E%&�9�	�(�('�4 P��=:�3:��A@B�@'�����8� &=�:%6:=� 3:��A@B� 86��	��E     
9���8:��	�7�;'��	��E%&�9�	�(�('�4��3:��98�%8��4 8�� ;'6�����9����� �8��8!����9����C   
'' 9>��P7�3:��A@B�@'������������'� ��'�=���������������

$���8�:K ��  ��P��9���8:��	�P���	��E�����=�K  8� 9���8:��	������@���'�<?�3
�&B  :=��5P7�3:��A@B���  :=� A�=P� �E������'� ���5P7����A@B�%	�ST� 	� 80 IRHD '' ��'�  B
��'�P��9����5�?���(	� ���A = high styrene resin A&5 phenolic resin ������� (%�%��E �	�	'<�8�, 
2536; 6<f���� �	�	'<�8�, 2542)
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2.3.3 �����6������
����c����� (Tear resistance)
P�'<�9�7 ������ �� ��:8� ��L� @��@'����'�>=6='�K 9=:�7�D�������%��5��

 "�7���:�P��������@'�Q&	�?8ER4���7&����	� ������� ASTM D 624  &=�:�:�:=� 3=����:8����
��  ����9'6��:�:	��7�D����3<E&8 TE5�8�:�������	��	!���9'6 Q& ����9'6���3=����C;'����
�%���3=� ��:8�3:����������=' ��L� @�� (Tear Resistance) @'� ����9'6�8!�K ��=��8!� ��=��
3:��98�%8��4$����� 86%��	 ���@'� ��P�����@'��8:Q&	�?8ER4P�@E5P�����

����>���� 2.6 A9���>��=���	!���9'6A66%	�%4 B A&5 C ���������� ASTM D 
624 A66%	�%4 C (D������A66�<��8!� ��=�� �����5P7������'��8� 9=:�%	�%4 B �� ���"��'��8��:�
 ='� ����9'6 �	!���9'6'� A667�D��3;' A66@� ��� � '8 T� F P��>�A9���	S���@'�A��
L�  9"�7�86���9>��7�D��K A��L� �%	��@D!������	��	!���9'6��������&"��86�� A66@� ��� � 
%	�%4 C A&5 %	�%4 B ���&"��86 �'��8�P�%	�%4 B �"�7�����������"�7�	�%;�'�����<���	��@'� ��@���
�8:@'� ��L� @�� A&5��'��5�8��5:8�P7��'��8�&D ��=�K  8��9�' �%��5�Uf7� ��3:63<��'��8�
��!�'� �D��"�P7���'�'' A66%	�%4 C @D!���P��'� A667�D�� ��;�'��� Q	:78 �����<� �"�P7�� 	�
3:���3����9>�9<�@E5�86A���D� A&5�����"�A7�=����� 	� ��L� A&5@�� �8��8!�%	�%4 C �D�P7�Q&���
�����6����6 8���� (Reproducibility) �� :=�CD�A���5P7�3=���"� :=�%	�%4 B  B���

�>���� 2.6 �	!���9'69"�7�86��9'63:����������=' ��L� @��%	�%4 C %	�%4 B A&5A66          
@� ��� � (����� �Y'�?8�, 2543)

�	!���9'6�8!�A66%	�%4 B A&5 C ���>��=��3&���3&D� 8� A&5��'�P��A���D�3='�
@���9>� ��;�'�����6����6 86A66@� ��� � ��;�'��� A���D�� ���:@�'� 86%&8���� (D����5 '6��:�
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%&8���� ���P���;���� 86%&8�������P���"�P7����L� A&5@�� �8��8!� ��P���	!���9'6A66%	�%4 B 
A&5 C �D�� ���:@�'� 86�5�86%&8�������9>� :=� ��P���	!���9'6A66@� ��� � 9=:�@�@'������=
3='��;���=�P� (D����;�'78 '' �� %&8���� ��L� @���8!�7�� �5���%&8���� ��L� @�� (Tearing 
Energy) ��7�=:����� kN/m 7�;' lbf/in  ��3"��:E3=�%&8���� ��L� @����:��	!���9'6A66@�
 ��� ��5�"�����=��@D!�C��P��AC6@� :���7�;'�9�	�9=:�@���:��9��P�P7�A@B�A��@D!� P� �E���=���!
C��C;':=�9=:�@���=�;��&��5���%&8���� ��L� @����=� 86 2F/t ��;�' F ����A��L�  A&5 t ����3:��
7��

9���8:��	�A&5�566 ��:8&3���(4��Q&�='9�68�	 ��L� @��@'���� �@�=��"��8 
�"�P7��'�L� @'�����8:'�=����&�����	S��� ����  ��L� &8 TE5��!:=�  ��L� A66��;�'��� (Knotty 
Tearing) A&5�8 P7�3=�%&8���� ��L� @��9>�  ���&;' �5�86 ��:8&3���(4 (Crosslink Density)    
����7��59� B���%&8���� ��L� @��9>���=�����: 8� A�=�5�86 ��:8&3���(4���P7�%&8���� ��L� @��
9>��5��3=���'� :=��5�86���P7�3:����A���D�9>�9<�  ��L� @�� 3:��A@B�A���D� A&59�68�	';��K   
@'����A9�����P� ��X��	�'<��3�	�8��>���� 2.7 (D������ ��X�57:=��9�68�	@'���� 86�5�86     
 ��3&'9&	�34 A�=��'��5&D '�>=�9�':=��U��8�';��K ��=� ��	����A&5��	�9���8:��	��=����Q&�='
9�68�	�7&=���!��:�

�>���� 2.7 3:��98�%8��4�57:=��9�68�	@'���� 86�5�86 ����;�'�@:�� (����� �Y'�?8�, 2543)

2.3.4 ����d�]�� (Abrasion)
 ����9'63:����������=' ��9D 7�'@'���� ���� ��:8���	����@'�������

7&<�'' ���� ��;!'��� ?��P��9?�:5��� "�7���:� �3�;�'��;'���P����9'63:��9D 7�'@'����              
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��'�>=7&����	���:� 8� '���5A6=�'' ��������	�@'�9������"�P7����9D 7�'���A = 9��9D 7�'   
�������Q� A&59��9D 7�'�������@'�A@B�

@��e�  ��9D 7�'��;�'����� 9	�����98�Q89 86�������Q�@'�A@B� ��=�  ��9D 7�'
@'��='%=�����  ��9D 7�'@'����6<�3�;�'�9>6A�= A&5 ��9D 7�'@'�9��%��&"��&��� �������

@�����@�a�  ��9D 7�'��;�'����� 9	�����98�Q89 86��������	!�@'�A@B� ��=�  ��
9D 7�'@'�����C 86%;!�3'� ��� A&5 ��9D 7�'@'��'����� �������

�3�;�'��;'�������@'�A@B����P����9'6�"�P7����9D 7�''������AQ=�7	�@8� AQ=�
 �5��T���� A&5A�=�$&75 �������  ���&;' ��	�@'��8:�"�P7����9D 7�'3:��5%	���E�:=�
&8 TE5@'� ��9D 7�'�7�;'� 86 ��P�������	�7�;'��= Q&@'� ����9'6'���5P7�3=����A� �=��
����  ��P�������	����  ����9'6��!��=3:��5P�������������P� ��(;!'@�� ��;�'��� �������
���9"�7�867�'���9'6�=��K ��='���5�"�����7�;'� 8���	� �<��<=�7���@'� ����9'6��!����
�%���A�=P�������6����6@�'�>&P�7�'��r	68�	 ������: 8���=��8!�

�3�;�'��;'��9'63:��9D 7�'�=����	� 8�P7�Q& �������6����6A� �=�� 8� �8�
�8!���	�@'��3�;�'��;'���P��P� ����9'63:��5�&;' P7��7��59� 86 ��P�������	� Q& ��
��9'6�5P7�'' ��P�&8 TE5@'� �������6����6 $��3=�'' ������ ��8���@'� ��9D 7�'� 
(Abrasion Index) 7�;' (Wear Index) '8�����3=�3:����������=' ��9D 7�'@'������;�'�����6
����6 86���������� �3�;�'��;'P� ����9'6������������7&����	� ��=� Du Pont abrader, 
Taper abrader, Akron abrader, Dunlop abrader, Pico abrader, NBS abrader A&5 Schiefer abrader 
������� �3�;�'�A�=&5�3�;�'��7��59"�7�86 ����9'6���A� �=�� 8� ��=� �3�;�'� Akron �7��5
9"�7�86��9'6����C���4 �3�;�'� Du Pont �7��59"�7�86��9'6����C���4 %;!��'����� A&59��
�'����� �3�;�'� Dunlop �7��59"�7�86��9'6����C���4A&5P7�3=�����7��59� 86            ��
��9'6%;!�A&59���'����� �:��8!����9��%��'� ��:� ������� (6<f���� �	�	'<�8� A&5����� �Y'�
?8�,  2534)

2.4 ���+� 7� �U,�+� (Dynamic properties)

 ����9'6��	�%&:8� (Dynamic Tests) 7���CD�  ����9'6��	� &%&:8� 
(Dynamic Mechanical Tests) ���� ����9'6���3:���3��-3:���3��������A66��3�6 (Cyclic 
Stress-Strain) �%;�':8�9�68�	��	�%&:8�@'����:8&3���(4  ����9'6��	�%&:8���=P�= ����9'6
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78 �' �%��5 ����9'678 �'��'� ��:8� ��� 	�A&5 ��@����8:@'��'�A�  (crack initiation 
and crack-growth) A&5:8�'��<3:��&�� (fatigue life) (D������9�68�	9<�����

 ����9'6��	�%&:8����� ����9'6A66��=�"�&�� (Non Destructive Test) P�
@E5��� ����9'6 ��78 �'���� ����9'6A66�"�&�� (Destructive Test) 9�68�	��	�%&:8�����
9�68�	���9"�38f�=' ��'' A66Q&	�?8ER4������P��������:	S: ��� ��=� ���9��	� (rubber spring) 
7�;'��� 8� �5��;'� (rubber dampers)  ����9'6��	�%&:8�7���CD�  ������"�P7�����8:'�=��    
C>  �5�"���:�3:���3��/3:���3�������A��3=�'�=���:���B: @D!�&�A&5�='��;�'�����3&;�� A6=�������� 
3 &8 TE53;'

-  3:���3��/3:���3����A66�='��;�'�A&5A'��&	�>�3����
-  3:���3��/3:���3����A66�='��;�'�A�=A'��&	�>�&�&�����:&�
-  3:���3��/3:���3����A663�D��3&;����'�������&"��86
���:8&3���(4����:89�<:	9$3'	&�9�	  �"�P7�9�68�	%&:8���5 '6��:�'�34��5 '6 

2 9=:� 3;'
1) 9�68�	���959��:���� (storage property) ����9�68�	��	�%&:8�9=:�P7f=@'���� 

A9��3:��9����C� B6%&8������� �5�"��� ?���' �:�$�� ����&�����>�P��=:��;�7�<=� A&53;�
%&8���� &869>=�>��=����	�����8������A��7�<� �5�"� 9�68�	�8� &=�:��!3;' 3:���;�7�<=�'�=����� 
(rubber elasticity) 7�;'3:������9��	�@'����

2) 9�68�	9>f�9�� (loss property) (D������9�68�	��	�%&:8�9=:���'� A9��@��� ��
9>f�9��%&8����$���>��=��� 	� ����&����'�=��C�:� ��;�'���  ���7&7�;' ��&;���7&@'�$��& <& 
9�68�	A7=� ���7&����8� &=�:3;' 3:��7�;� (viscosity) 7�;' ��7�=:� (damping)

�8��8!� ��;�'�"����:8&3���(4���86A�� (�86$7&� 7�;'3:���3��) ���A��3=�����:&�         
 ����&����A�&� ��Q	��>� ( ���;� 7� 7�;'3:���3����) �D�� 	���=�8� 7�;'� 	� ��&��7&8� (time 
lag) @D!� ��=� CD�3=�S>��47�;'3=�9>�9<���"�9<���=%��'� 8� :8�@�����:�3=� �<��=�� (phase difference, 
δ) 7�;' �<�9>f�9�� (loss angle) (D��� 	�@D!�P��< �'6@'� ���86A�� Q&3;' � 	� ��9>f�9��%&8����
@D!�P���;!'���P��>�3:����'�P��< �'6@'� ��A :=�  ��98�� 7�;' �� �5A� ������C>  �5�"� 
(D��������� r ��E4���� 	�@D!� 86Q&	�?8ER4����< ��	���;�'P��P����%&:8�

 ����9'6��	�%&:8� ���� ��:8��'�<&89��	�(�'� (complex modulus, E*, G*) 
@'���� $�� E 7���CD��'�<&89�;�7�<=� (Elastic Modulus or Young�s Modulus) A&5 G 7���CD�
�'�<&89�L;'� (Shear Modulus) �'�<&89��	�(�'�A9��3<E&8 TE5%;!����@'����:8&3���(4           
2 ��5 ��3;'
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(1) In-phase modulus (E/, G/) (D�������'�<&89959� (storage modulus) A9��
3:���;�7�<=� 7�;'3:��9����C� B6%&8������ ?���' $�� ��Q	��>� (deformation)

(2) Out-of-phase modulus (E//, G//) (D��A9�������'�<&899>f�9�� (loss modulus) ���
A9��9=:�@'�%&8���� &���9>f�9����P��>�3:����'�

�'�<&89��	�(�'���3:��98�%8��4 86�'�<&89959�A&5�'�<&899>f�9�� �8�9� �� 
(2.1) (2.2) (2.3) A&5 (2.4) �8!� 3 3=�������	��E�: ��'�4

E*  =  E/ + iE//                           (2.1)

9"�7�86 Young�s Modulus

A&5 G*  =  G/ + iG//                      (2.2)

9"�7�86 Shear Modulus

A&5 E*  =  [ (E/)2 + (E//)2 ](1/2)                                   (2.3)

G*  =  [ (G/)2 + (G//)2 ](1/2)                                           (2.4)

'8���9=:��57:=���'�<&89�8!�9'����� :=� A������49>f�9�� (loss tangent) �8�9� ��

Tan δ  =  
/

//

E

E   =  
/

//

G

G                           (2.5)

A������49>f�9��A9��3:������:	9$3'	&�9�	 @'����
P������3$�$&�� A������49>f�9��6' ����8!���	�@'���� ��	�A&5��	��E  

9���8:��	� A&59C��5 ��:8&3���(4��� �5�7B�:=�  ����9'6��	�9C	� �'�<&89��'�34��5 '6����:
3;' Young�s Modulus (E) A&5 Shear Modulus (G) �' �� ��	�A&5'�34��5 '6@'�9>�����
A&�: �'�<&89��	�%&:8��8�@D!�'�>= 86�U��8�';��K �8��='����!

-  9?�:5 ����9'6
-  �>����A&5@���@'��	!���9'6
-  ��	�@'� ��Q	��>�:=����� ���D� $3���' '8� �L;'� 7�;'6	�
-  A'��&	�>�@'� ��Q	��>�
-  ��5:8�	 ��Q	��>� (strain history)
-  3:��C��@'� �� �5�"�
�3�;�'���9'6�����	�%&:8�3;' '<� �E4���9����C�"�P7�� 	� �� �5�6 7�;'

 �5A�  (impact) 7�;'� 	� ��A :=�7�;' ��98�� (oscillation) �='����8:'�=�� �3�;�'���9'6
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9����CA��@��� �� �5A� 7�;' ��A :=� A��'8���7�;'3:��C�� A&5'<E7?>�	@'� ����9'6
��� (�&�� �&:	9, 2546) (D���8:'�=��@'�Q& ����9'6��������  ����9'69�68�	��	�%&:8���:�
�3�;�'�Dynamic Mechanical Thermal Analyzer (DMTA) A9��'�>=P��>���� 2.8
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�>���� 2.8 �8:'�=��Q& ����9'6Q&@'�'<E7?>�	�='9�68�	��	�%&:8�@'����3'�$%9	�


